F tests - ANOVA: Fixed effects, special, main effects and interactions
Numerator df = 5, Number of groups = 2, Total sample size = 336, « err prob = 0.05
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Supplementary Figure 2: The power of doing an eQTL analysis using ANOVA with an interaction
term, calculated using G¥*POWER. This is a post hoc analysis of the power at various effect sizes, with
a sample size of 336, type | error = 0.05, and 2 groups (male and female). The significance level is set
at 0.05, and Number of groups (male vs female) set at 2.




